

Series with some -ve terms.

$$\sum_{n=1}^{\infty} (-1)^{n+1} U_n \text{ (alternating)}$$

① $\lim_{n \rightarrow \infty} U_n$ ✓

$\neq 0$

↓
div by
nth term test

#

↓
 $= 0$

② $\sum |a_n|$

conv. ✓

↓
abs. conv.

#

div.

③

1. $U_n \geq 0$
2. U_n non-increasing
3. $\lim U_n = 0$

↓
conv. by
A.S.T.

↓
Cond. conv.

$$6. \sum_{n=1}^{\infty} (-1)^{n+1} \frac{n^2 + 5}{n^2 + 4}$$

$$\lim_{n \rightarrow \infty} \frac{n^2 + 5}{n^2 + 4} = 1 \neq 0 \Rightarrow \text{div. by nth term test.}$$

$$8. \sum_{n=1}^{\infty} (-1)^n \frac{10^n}{(n+1)!}$$

$$n^n > n! > x^n$$

$$\lim_{n \rightarrow \infty} \frac{10^n}{(n+1)!} = 0$$

$$\sum_{n=1}^{\infty} \left| (-1)^n \frac{10^n}{(n+1)!} \right| = \sum_{n=1}^{\infty} \frac{10^n}{(n+1)!}$$

$$\Rightarrow \lim_{n \rightarrow \infty} \frac{10^{n+1}}{(n+2)!} \cdot \frac{(n+1)!}{10^n} =$$

$$= \lim_{n \rightarrow \infty} \frac{10^n \cancel{10} (n+1)!}{(n+2) \cancel{(n+1)!} \cancel{10^n}} = 0 < 1$$

\Rightarrow conv. by Ratio test.

\Rightarrow the series abs. conv. \Rightarrow conv.

18. $\sum_{n=1}^{\infty} \frac{(-1)^n}{1 + \sqrt{n}}$

(i) $\lim_{n \rightarrow \infty} \frac{1}{1 + \sqrt{n}} = 0$

(2) $\sum_{n=1}^{\infty} \left| \frac{(-1)^n}{1 + \sqrt{n}} \right| = \sum_{n=1}^{\infty} \frac{1}{1 + \sqrt{n}} = a_n$

Let $b_n = \frac{1}{\sqrt{n}}$

$\Rightarrow \lim_{n \rightarrow \infty} \frac{1}{1 + \sqrt{n}} \cdot \sqrt{n} = \lim_{n \rightarrow \infty} \frac{\sqrt{n}}{1 + \sqrt{n}} = 1$

both $\sum b_n$ and $\sum a_n$ conv. or both div.

but $\sum b_n = \sum \frac{1}{n^{1/2}}$ (div)
 p-series
 $p = \frac{1}{2} < 1$

$\Rightarrow \sum_{n=1}^{\infty} \frac{1}{1 + \sqrt{n}}$ div. by LCT

③ 1. $U_n = \frac{1}{1+\sqrt{n}} \geq 0$ for $n \geq 1$

2. U_n nonincreasing (decreasing)

$$f(x) = \frac{1}{1+\sqrt{x}} \rightarrow f' = \dots$$

3. $\lim_{n \rightarrow \infty} U_n = 0$

A diagram illustrating the relationship between a function and its derivative. It shows a horizontal line with a dashed line above it. The top part is labeled f' and the bottom part is labeled f . An arrow points from the dashed line down to the solid line.

\Rightarrow the series conv. by A.S.T

\Rightarrow cond. conv.

Let: $\sum_{n=1}^{\infty} (-1)^{n+1} U_n$ be an alternating series.

and

conv. by A.S.T

exact sum = L

approx. sum = S_n

remainder = $L - S_n$

$\Rightarrow |E| < \underline{U_{n+1}}$

the sign of E = the same of sign U_{n+1}

50. $\sum_{n=1}^{\infty} (-1)^{n+1} \frac{1}{10^n}$

conv. by A.S.T ✓

$n=4$

$|E| < u_{n+1}$

$|E| < u_5$

$|E| < \frac{1}{10^5} \Rightarrow |E| < 10^{-5}$

the sign of the error. is +ve

$-10^{-5} < E < 10^{-5}$

$\Rightarrow 0 < E < 10^{-5} *$

$-\sum_{n=1}^{\infty} \left(\frac{-1}{10}\right)^n$

$\Rightarrow \frac{-1}{10} \div \left(1 + \frac{-1}{10}\right) = \frac{-1}{10} \div \frac{9}{10}$

$L = \frac{1}{11} = 0.09$

$S_4 = \frac{1}{10} - \frac{1}{10^2} + \frac{1}{10^3} - \frac{1}{10^4}$

$= 0.1 - 0.01 + 0.001 - 0.0001 = 0.0909$

In Exercises 53–56, determine how many terms should be used to estimate the sum of the entire series with an error of less than 0.001.

U_n

54. $\sum_{n=1}^{\infty} (-1)^{n+1} \left(\frac{n}{n^2 + 1} \right) \Rightarrow \text{conv. by A.S.T}$

$|E| < 0.001$

$\Rightarrow U_{n+1} < 0.001$

$$\frac{n+1}{(n+1)^2 + 1} < \frac{1}{1000}$$

$$\frac{n+1}{n^2 + 2n + 2} < \frac{1}{1000}$$

$$\frac{n^2 + 2n + 2}{n+1} > 1000$$

$$n^2 + 2n + 2 > 1000n + 1000$$

$$+n^2 - 998n - 998 > 0$$

$$n > n_2$$

$$n \geq 999$$

